UDAYA PUBLIC SCHOOL
SUMMATIVE ASSESSMENT – 2
CLASS – 5
SUBJECT – Maths
Time: 3 hrs                                                                                                 



 M.M.:- 100
Note: All questions are compulsory.
Que.1 Tick the correct option: -    








(1x5=5)
I. 1km= . ... hm
a) 10  

b) 100   

c) 1000  

 d) 0 
II. Area of square=...   
a) Side×side  
b) length × breadth  
c) 4× side  

d) none
III. Volume of cuboid=........ ×breadth×height
a) Length  
b) breadth 

c) both   

d) none
IV. Profit= S.P.-......
a) Loss 

b) overhead expenses  c) Cost price  

d) none
V. Diameter=2×...........
a) Circumference     b) Arc.      

 c) Chord    

d) Radius 
Que.2 Fill in the blanks: -                                                                          



(1x10=10)
a) The basic unit of capacity is............
b) Weight of your school bag is 3.........
c) Water boils at.......°C
d) Doctors use ........  thermometer.
e) A......... has two end points.
f) A ......... has one starting point.
g) Any part of a circle is called an ........ of the circle.
h) A triangle having one right angle is called.......
i) The sum of all the three angles in a triangle is....... 
j) A graph drawn using pictures is called............
Que.3 Write'T' for true and 'F' for false.                                                                                       (1x5=5)
     a) Each radius of a circle is also a chord of the circle. 



( 

 )
     b) each diameter of a circle is also a chord of the circle. 



(  

)
     c) Area is always measured in squares.





(  

)
     d) Representation of numerical data through pictures is called pictograph. 
(  

)
     e) 0°C is cooler than 0°F.







(  

)
Que.4 Solve these:-             









(5x2=10)
   A)


B)
5+2=7


2×5=10
50+20=70        

2×50=100
500+200=.........  
 2×500=.......
5000+2000=........
2×5000=.......
Que.5 Find the answer.  









(3x5=15)
a) Define and draw:- A ray and a line segment.
b) 30% of 86=......?
c) Find the profit if cost price is Rs 5000 and sell prices Rs 6000.
d) Convert 45 gram in kilogram.
e) Find the area of square whose side is 6 cm.
Que.6 Constract the following .   








(5x2=10)
a) Draw the line segment of 6.5 cm. 
b) Draw a circle whose diameter is 10 cm. Find its radius.
Que7) Classify the following angles into acute, obtuse, right, straight and zero:                       (1×5=5)
(a) 35°.        b)126°
(c) 90°.        (d) 0°.           (e)180°
Que.8 Convert these: -                     








 (5x2=10)
(b) 30°C into°F
(c) 3.5kg into gram.
(d) 45cm into dm
(e) 5litres into mL
(f) 93litres into dL
Que9) Solve:      










(2.5×2=5)
     a) Add 19.043L, 14.109L and 2.001L
     b) Subtract 8100 kL from 21007kL.
Que10) Classified triangles according to sides that is equilateral isosceles and scalene triangles:(3)
     a) 6cm, 3cm, 5cm.
     b) 6cm, 6cm, 6cm
Que11) Write the table of 18 and 19.








(2)
Que.12 Word problems :- (Any 4)                                                              



(5 x 4 = 20) 
a) One of the two equal angles of an isosceles triangle measures 55 degree determine the other angles.
b) What will be the labour charge for tiling a hall 22 m long and 17 m wide at the rate of Rs.8 per square metre.
c) Find the volume of cuboid of dimension 18 cm X 120 mm X 150 mm in cubic centimetre.
d) Find the perimeter of rectangle whose length is 5 cm and breadth is 4 cm.
e) Determine the time taken when the distance is 7150 km and the speed of vehicle  is 780 km /hour.
